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VYPIS REZIVA
T
OZNAC.| PRVEK KROWU | ROZMERY REZVA | POGET
| K1 KROKEV 0,12/0,18 dl. 51m | 10 KS
_ k2| KROKEV 0,12/0,18 dl. 7.7m | 7 KS
K3 | KROKEV 0,12/0,18 dl. 4,0m | 3 KS
3 a K4 | KROKEV 0,12/0,18 dI. 6,4m | 8 KS
=~ S K5 | GZLABNI KROKEV | 0.12/0.18 dl. 3,5m | 2 KS
S B K6 OZLABNI KROKEV | 0,12/0,18 dI. 5,3m | 2 KS
4 K7 | KROKEV 0,12/0,18 dl. 2,8m | 3 KS
k8 | KROKEV 0,12/0,18 dl. 3,8m | B kS
st SLOUPEK 0,12/0,12 dl. 3,0m | 2 KS
Pl PASEK 0,10/0.10 dI. 1.6m | 4 KS
HI | KLESTNA 0,06/016 dl. 5,3m | 7 KS
H2 | KLESTINA 0,06/0,16 dl. 7,0m | 5 KS
H3 KLESTINA 0,06/0,16 di. 7,8m | 2 KS
v VAZNICE 0,14/0,18 dl. 6,8m | 2 KS
V2 | VAZNICE 0,14/0,18 dI. 5,1m | 2 KS
T A_ V3 | vAZNICE 0,14/0,18 dl. 5,9m | 1 kS
. V4 | POZEDNICE 0,16/0,12 dI. 6,8m | 2 KS
V5 | POZEDNICE 0,16/0.12 dl. 5.1m | 2 KS
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